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X ¢ 2 X
ProsiEM 4. Evaluate J.tang sec de.

A

Answer: Let u=tan§ and du:%seczgdx. Then 3du=sec2—§dx.

Substituting, we get:
SJ‘ udu= éuz +
‘ 2
Then substitute back:
§ tant + C
2 3

" PRACTICE PROBLEM SET 21

Now evaluate the following integrals. The answers are in Chapter 21.

1. Jstxcostdx %\m ZX+C

3xdx 4
> J‘\/m 22 ‘J(\O 57 B%C
3. [«Vxt +20 dx %15 (6$<H+ZOB
)
4 _J.(x_l)z -X'\ +C |
5. I(x2+1)(x3+3x)75dx - 1 _ S,
v [P a8y
6. J‘isin\f;dx
oo -Z0esTx +C
7. szsec2x3dx _%_bom{x’o)fc
| cos(; |
8 [ —%\n( \*b

sin2x

1 9, jmdx '—\q—lﬁfm%ZK \‘Z—\-(_,

|10, jsm(smx)cosxdx
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